
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-gearbox
7/4/25

JWP-208HH Gearbox
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-gearbox


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-gearbox
7/4/25

Description

Index
Number Part Number Description Size Qty

1 JWP208-501 Gear Box  1

2 OS-28408 Oil Seal  1

3 BB-6204ZZ Ball Bearing 6204ZZ 1

4 6292762 Gear 16T 1

5 TS-1503061 Socket Head Cap Screw M6 x 25 1

6 TS-1550041 Washer M6 2

7 TS-1503041 Socket Head Cap Screw M6 x 16 1

8 BB-6201 Ball Bearing 6201 2

9 6292766 Gear 47T 1

10 6292767 Shaft 18T 1

11 JWP208-511 Key 5 x 5 x 12 1

12 6292769 Gear 71T 1

13 JWP208-513 Key 5 x 5 x 10 1

14 JWP15H-314 Shaft 18T/22T 1

17 JWP208-517 Gear 96T 1

18 JWP208-518 Gear 92T 1

19 TS-1503021 Socket Head Cap Screw M6 x 10 3

20 JWP208-520 Key 6 x 6 x 40 1

21 JWP208-521 Ball  1

22 6292776 Spring  1

23 6292777 Shaft  1

24 OS-25476 Oil Seal  1

25 6292791 Sprocket 18T 1

 6292779 Sprocket 12T 1

27 6292792 Chain 06BX52 (for
6292791) 1

 6292780 Chain 06BX50 (for
6292779) 1

28 TS-1482031 Hex Cap Screw M6 x 16 1

29 6292781 Clutch  1

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-gearbox


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-gearbox
7/4/25

30 6292782 Handle  1

32 JWP208-038A Hex Washer Head Screw M6 x 12 1

33 JWP208-533 Oil Ring  1

34 6292784 Knob  1

35 6292785 Pin  2

36 6292786 Packing  1

37 JWP208-537 Cover  1

38 TS-1503061 Socket Head Cap Screw M6 x 25 5

39 JWP208-539 Oil Plug  1

40 TS-1504101 Socket Head Cap Screw M8 x 50 4

41 BB-6201Z Ball Bearing 6201Z 1

42 BB-6204Z Ball Bearing 6204Z 1

 JWP208-GB Gear Box Complete (not shown)  1

 JWP208-551 Open End Wrench (not shown)  1

 JWP208-552 Hex Wrench Set (not shown)  1

Additional Information

Stock Number 708544-5

Products in this set

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-208hh-gearbox

